RACE 1 Volt 2140 RANK

Only ranking. A: 1-7-12

B: **10-4-2-6-9-3-8-5**

C: **11**

Top 4: **1-7-12-10**

Quinella:

Horses: 1, 7, 12 U-Horses:

Total: $3 \times 40 = 120$

Trifecta:

1: 1, 7, 12

2: 1, 7, 10, 12

3: 1, 7, 10, 12

Total: 18 x 2 = 36

RACE 2 Auto 2140 RANK

Only ranking.

A: **3**

B: **4-8-7-1-6-10-5-9-2**

C:

Top 4: **3-4-8-7**

Quinella:

Horses: 4, 7, 8 U-Horses: 3

Total: $3 \times 40 = 120$

Trifecta:

1:3

2: 4, 7, 8

3: 1, 2, 4, 5, 6, 7, 8, 9, 10

Total: 24 x 2 = 48

RACE 3	Auto 2140	RANK
	AUTO 2140	

Only ranking.

A: **8-3-5**

B: **1-2-6-4-7**

C:

Top 4:**8-3-5-1**

Quinella:

Horses: 3, 5, 8 U-Horses:

Total: $3 \times 50 = 150$

Trifecta:

1: 3, 5, 8 2: 3, 5, 8

3: 1, 2, 3, 4, 5, 6, 7, 8

Total: 36 x 2 = 72



RACE 4 V64-1 Auto 2140 **RANK**

8 San Moteur is a world star returning from injury problems. He has a poor number but has earned by far most money here. Is working well and has top chance directly. **7 Brambling** was good in the seasonal debut behind Hail Mary but has had problems after that. The chances are hard to predict. **3 Behind Bars** comes with fine results from France, but has mainly competed on small tracks. **1 Mr Mah Can** has quite good speed but faces too tough opposition.

A: 8

B: **7-3-1**

C: **5-2-4-6**

Top 4:8-7-3-1

Quinella:

Horses: 7, 8 U-Horses:

Total: $1 \times 100 = 100$

Trifecta:

1:8

2:7

3: 1.3

Total: 2 x 2 = 4

RACE 5 V64-2 Volt **1640 RANK**

1 Kant'e has started his career very well and won very easily last time from the lead at Solvalla. The trainer is pleased and the horse has good chance to reach the front. **10 Ramos** is very good for this class and after a fast finish last time he showed that he is back in good shape again. Very early. **2 Dimension Trot** got a difficult trip last time but has been good every time before. First barefoot now. **14 Festival** is very well-bred and matched in good companies.

A: 1-10-2-14

B: 9-6-4-3-11-13-8-7-15-5-12

C:

Top 4: **1-10-2-14**

Quinella:

Horses: 1, 2, 10, 14

U-Horses:

Total: $6 \times 20 = 120$

Trifecta:

1: 1, 2, 10, 14

2: 1, 2, 10, 14

3: 1, 2, 10, 14

Total: 24 x 2 = 48



RACE 6 V64-3 Auto **1640 RANK**

8 Izola Silvåkra won in the V75 last summer in a 1.11-time and has two runs under his belt now. First American bike now. **11 Eclisse Roc** has met very tough opponents of late. Is good enough to be in the mix here despite this draw. **10 Lilly Avant** won from outside the leader last time and is driven by a good apprentice. **9 Zakira** faced the best Scandinavian mares last time and never had a chance. Good speed and second career barefoot here.

A: **8-11-10-9**

B: 6-12-2-1

C: **3-5-4-7**

Top 4:8-11-10-9

Ouinella:

Horses: 9, 10, 11 U-Horses: 8

Total: $3 \times 40 = 120$

Trifecta:

1:8

2: 9, 10, 11

3: 9, 10, 11

Total: 6 x 2 = 12

RACE 7 V64-4 Volt **2140 RANK**

6 Iziah Zet has not impressed so far, but he finished brilliantly to a narrow defeat last time. Perfect task but we are not sure how fast he can open. **1 Star Pulsion** has done alright from far behind in every single start. Better number here and is very well-bred. Big sister Zolly has earned two million SEK. **15 Attitude Superb** makes her debut for a new trainer who is not too optimistic. The horse has good speed though. **5 Henessi Humble** has a good trainer and should be followed too.

A: 6

B: 1-15-5-4-7-11-3-2-8-9-14-12-10-

13

Top 4: **6-1-15-5**

Quinella:

Horses: 1, 4, 5, 15

U-Horses: 6

Total: $4 \times 30 = 120$

Trifecta:

1:6

2: 1, 4, 5, 15

3: 1, 2, 3, 4, 5, 7, 11, 15

Total: 28 x 2 = 56



RACE 8

V64-5

Auto **2140**

RANK

6 Alina Garde has competed in tough companies throughout her short career. Last time she followed brilliantly after a tough opening. Front now? **9 Follia Wind** didn't lose much on the gallop in her E3-heat and did alright. Better now and possibly barefoot. **5 Fascination IT** made her debut in an E3-heat and did well. Should be a lot better now. **7 Arctic Estelle** came back well after a mistake in her qualifier. Has good speed.

A: 6-9

B: 5-7-3-1-4-2-8

C:

Top 4: **6-9-5-7**

Quinella:

Horses: 6, 9 U-Horses:

Total: $1 \times 100 = 100$

Trifecta:

1:6,9

2: 6, 9

3: 1, 2, 3, 4, 5, 7, 8

Total: 14 x 2 = 28

RACE 9

V64-6

Auto **2140**

RANK

10 Chimi is nice. Has scored two easy victories and last time he won easily after a quick finish. Our pick despite this number. **8 Doctor Gio** is not that bad but has not convinced so far on Swedish soil and did not impress last time. Has good speed and could find an early lead here. **9 Joker Mearas** was very nice last time when he passed everybody finishing 10.5/700 meter. **2 Labyad Bros** is consistent and good and possible too here.

A: **10-8-9**

B: 2-4-11-12-3

C: **5-1-7-6**

Top 4: **10-8-9-2**

Quinella:

Horses: 8, 9, 10 U-Horses:

Total: $3 \times 40 = 120$

Trifecta:

1:8,9,10

2: 8, 9, 10

3: 2, 4, 8, 9, 10

Total: 18 x 2 = 36

RACE 10 V3-3 Volt 2140 **RANK**

Only ranking. A:

B: **9-6-4-2-5-7-8-1**

C: **3**

Top 4:9-6-4-2

Quinella:

Horses: 2, 4, 5, 6 U-Horses: 9

Total: 4 x 30 = 120

Trifecta:

1: 2, 4, 5, 6, 9

2: 2, 4, 5, 6, 9

3: 2, 4, 5, 6, 9

Total: 60 x 2 = 120